
ÅÅÅÅÅ∑∑

r−MÄ qB�

 UB²�
 ÁU~²Ýœ® Coordinate System©

∫È—U²�— ÈU¼Å·b¼∫œË—Åv� —UE²
« dOÖ«d� “« qB� s¹« ÊU¹UÄ “« fÄ 

±Õd?ý «— Èb?F?ÐÅËœ  U?B?²$� ÁU~²Ýœ Ë bM) n¹dFð «—  UB²$� ÈU¼—u×� ‡‡

Æb¼œ

≤Æb¼œ `O{uð «— ÈbFÐËœ v³D6  UB²$� ÁU~²Ýœ ‡‡

≥«— U?C?� —œ v?ð—U?)œ  UB²$� ¨Áœd) n¹dFð «— ÈbFÐÅtÝ  UB²$� ÁU~²Ýœ ‡‡

Æb¼œ Õdý

¥Æb¼œ Õdý «— v³D6ÅrO
 U¹ È«Åt
«u²Ý«  UB²$� ÁU~²Ýœ ‡‡

µUÐ ̈ fJŽÅtÐ Ë t¹Ë«eA«ÅrzU6  UB²$� tÐ «— È«Åt
«u²Ý«  UB²$� q¹b³ð jÐ«Ë— ‡‡ 

Æb¼œ Õdý ¨‰U¦� d)–

∂Æb¼œ `O{uð «— ÈËd)  UB²$� ‡‡ÅÅ

∑Æb¼œ Õdý ¨fJŽÅtÐ Ë t¹Ë«eA«ÅrzU6 tÐ «— ÈËd)  UB²$� q¹b³ð jÐ«Ë— ‡‡

∏ÆœdO~Ð«d� «— qB� s¹« —œ Ábý tz«—« ÈU¼Å‰U¦� ‡‡ÅÅ

 qJýµ‡‡±

x ,y , z = o



ÅÅÅÅÅÅ∑∏

µÅÅÅ‡‡±—u×
 n¹dFð ‡‡Å® Axis©

s?O?O?Fð ÈdOÖÅÁ“«b
« bŠ«Ë ÂU
 tÐ vAuÞ Ë √b³� ÂU
 tÐ È«ÅtDI
 Ê¬ ÈË— t) «— —«œÅXNł jš p¹

éÇ tÐ XÝ«— ·dÞ “« Ë åX³¦�ò XÝ«— tÐ éÇ ·dÞ “« «— —u×� XNł ÆbM�U
Åv� å—u×�ò býUÐ Ábý

ôuLF� Æb
dOÖÅv� dE
Å—œ åvHM�òÎ UÐ «— —u×� ′x ox U¹ ′y oyÆbM¼œÅv� ÊUA
 qJý s¹« oÐUD� 

d?þU?M?²?� v?I?O?I?Š œb?Ž p¹ UÐ «— —u×� “« tDI
 d¼ Ë —u×� “« tDI
 p¹ UÐ «— vIOIŠ œbŽ d¼

 √b?³� ÆrOM)Åv�O ÈÅt?DI
 Ë dH` œbŽ UÐ dþUM²� I q?Jý —œ ÆXÝ« p¹ œbŽ UÐ dþUM²� µÅÅÅ‡‡¥jšÅÁ—UÄ 

OA UÐ «— Ê¬ Ë rO�U
Åv� å—«œdÐò —u×� X³¦� XNł s²�dÖ dE
Å—œ UÐ «— OA
→

 ÆrO¼œÅv� ÊUA
 O√b³� «— 

 ËA jšÅÁ—UÄ ‰uÞ ÆrO
«ušÅv� —«œdÐ s¹« ÈUN²
« «— OA—«œdÐ Ê¬ ‰uÞ Ê¬ XNł s²�dÖ dE
Å—œ ÊËbÐ «— 

 UÐ ¨ÁbO�U
OA
→

ÆbM¼œÅv� ÊUA
 

 dÖ«A ÈÅtDI
 ©h²$�® ‰uÞ n¹dFð tÐ UMÐ býUÐ —u×� ÈË— Á«ušÅ‰œ È«ÅtDI
 A UÐ «— Ê¬ t) xA

 Èd³ł ÈÅÁ“«b
«ò Ê¬ tÐ Ë rO¼œÅv� ÊUA
OA
→

∫rO¹uÖÅv� eO
 å

OA = xA

 qJýµ‡‡≤

Z

n

e

cE

B
N

z

P(n, e,z)

A(0,0,0)

P1 P2

WS.HT

R.HT

 qJýµ‡‡≥

′X X
O I

 qJýµ‡‡¥

′X X
O A



ÅÅÅÅÅ∑π

µÅ‡‡≤ÈbFÐËœ  UB²�
 ÁU~²Ýœ ‡‡

 Vðd� ÃË“ d¼ Ë œ«bŽ« ÈÅt×H` «— vIOIŠ œ«bŽ« “« Vðd� ÈU¼ÅÃË“ ÂULð ÈÅtŽuL−�(x,y)«— 

 X�öŽ UÐ «— œ«bŽ« ÈÅt×H` ÆrO�U
Åv� t×H` s¹« “« tDI
 p¹  R2
ÆbM¼œÅv� ÊUA
 

 t) t
uÖÅÊUL¼  R1
 —u?×� p¹ ÈË— ◊UI
 UÐ «— ®r?O
«uðÅv� ¨rOM)Åv� h$A� ©ÈbFÐÅp¹ ÈUC�

  R2
 v?ÝbM¼ ÈÅt×H` p¹ —œ l6«Ë ◊UI
 UÐ «— ®È«d?Ð t) výË— ÆrOM) h$A� ©ÈbFÐËœ ÈUC�  R2

 ‰UÝ —œ vKOK×ð Ÿ«bÐ« t) XÝ« Èum
«d� Ê«œÅv{U¹— å —U)œ t
—ò tÐ »umM� r¹dÐÅv� —U)ÅtÐ±∂≤∑eO
 

ÆXÝË« —U)

® ©t¹Ë«e/«ÅrzU1® vð—U3œ ÈbFÐËœ ÁU~²Ýœ n¹dFðCartesian∫©ÈÅt×H` —œ vI�« jš p¹ 

 —u×� «— Ê¬ ÆrOM)Åv� »U$²
« vÝbM¼x —u×� ÂU
ÅtÐ eO
 rzU6 vDš ÆrO�U
Åv� U¼yt) rOM)Åv� »U$²
« U¼

 —u×� dÐ œuLŽx —u×� œ—ušdÐ ÈÅtDI
 ÆbýUÐ U¼x —u×� Ë U¼y·dŠ UÐ Ë rO�U
Åv�  UB²$� √b³� «— U¼

OôuLF�® ÆrOM)Åv� »U$²
« ‰uÞ È«dÐ ÈbŠ«Ë ÆrO¼œÅv� ÊUA
 ÎÊUmJ¹ œbŽ Ëœ d¼ È«dÐ ‰uÞ bŠ«Ë 

©ÆœuýÅv� »U$²
«

—u?×� ÈË— X³¦� XNł rOM)Åv� ÷d�x —u?×?� ÈË— X³¦� XNł Ë √b³� XÝ«— ·dÞ —œ U¼

y qJý oÐUD�® býUÐ √b³� ÈôUÐ ·dÞ —œ U¼µÅÅÅ‡‡ÅÅµ Vðd� ÃË“ tÐ Æ©(x,y)È«Åt?DI
 vIOIŠ œ«bŽ« “« 

 bM
U�P ÈÅtK`U� ∫XÝ«  UB$A� s¹« È«—«œ t) rO¼œÅv� X³m
 vÝbM¼ t×H` ÈË— P —u×� “« yU¼

 dÐ«dÐx dÖ« t) XÝ« P —u×� XÝ«— ·dÞ —œ y býUÐ Ábý l6«Ë U¼x býUÐ éÇ ·dÞ —œ dÖ« Ë X³¦� x

 ÆXÝ« vHM�x h²$�® ‰uÞ «— x ÈÅtDI
 ©P ÈÅtK`U� ÆrO�U
Åv� P —u×� “« x dÐ«dÐ U¼ydÖ« t) XÝ« 

P —u?×� ÈôUÐ x b?ýUÐ U¼y d?Ö« Ë X³¦� P —u?×?� sO¹UÄ x b?ýUÐ U¼y Æœu?Ð b?¼«uš vHM� y÷dŽ «— 

 qJýµ‡‡µ

 ‰uÞ®p©

 ÷dŽ®p©

x

y

O

Y

X

P x ,y( )



ÅÅÅÅÅÅ∏∞

ÅÅh?²$�®y ÈÅtDI
 ©PÊ¬ r?zU?6 v?ð—U?)œ  U?B²$�ò «— tDI
 p¹ ÷dŽ Ë ‰uÞ ¨VOðdðÅs¹bÐ ÆrO�U
Åv� 

 qJý —œ ÆbM¹uÖÅv� åtDI
µÅÅÅ‡‡ÅÅ∂ÆbOMOÐÅv� Ê¬ —œ «— tDI
 bMÇ Ë rzU6 vð—U)œ  UB²$� ÁU~²Ýœ p¹ 

 —u×�x —u×� Ë U¼yp¹ «— XLm6 d¼ t) bMM)Åv� rOmIð XLm6 —UNÇ tÐ «— œ«bŽ« ÈÅt×H` U¼

l?Ð— ¨v?MF¹ ªbM²m¼ X³¦� Ëœ d¼ ◊UI
 ÷dŽ Ë ‰uÞ Ê¬ —œ t) XÝ« vFÐ— ‰Ë« lÐ— ÆrO
«ušÅv� ålÐ—ò

 ÈôU?Ðx —u?×?� X?Ý«— XLÝ Ë U¼y‘œd?Ö f?J?Ž X?N?ł —œ «— d?~?¹œ ÈU?¼Ål?Ð— V?O?ðdð sOL¼ tÐ ¨U¼

∫rOM)Åv� È—«cÖÅÁ—ULý XŽUÝ ÈU¼ÅtÐdIŽ

®v?³?D?1  U?B?²�
 ÁU~²Ýœ n¹dFðPolar∫Èb?FÐ Ëœ ©ÁU?~?²?Ýœ s?¹« —œ t?DI
 d¼  UB²$� 

 qJý® œuýÅv� h$A� t¹Ë«“ Èd~¹œ Ë ‰uÞ vJ¹ d²�«—UÄ Ëœ ÈÅtKOÝËÅtÐµÅÅÅ‡‡∑bM
U� «— v²ÐUŁ —u×� Æ©

 qJýµ‡‡∂

7,5)(

8,−7 )(

O

Y

X

1,2( )

2,0( )

0,−4( )

−6,0( )

−4,5( )

−8,−6( )

‰Ë« lÐ—ÂËœ lÐ—

Â—UNÇ lÐ—ÂuÝ lÐ—

x

y



ÅÅÅÅÅ∏±

′x ox ÈÅtDI
 v³D6  UB²$� sOOFð È«dÐ ªr¹dOÖÅv� dE
Å—œ M ‰uÞ OM = ρd~¹œ t²�dÖ dE
Å—œ «— 

 ÈÅt¹Ë«“θ ® t) È«Åt¹Ë«“OM —u×� UÐ OxªrOM)Åv� —uEM� ©œ“UÝÅv� XŽUÝ tÐdIŽ ·öš XNł —œ 

 v³D6  UB²$� s¹«dÐUMÐM(ρ,θ) ÆœuýÅv� Áœ«œ g¹UL
 ® tDI
OÆ©XÝ« v³D6  UB²$� √b³� 

µÅÅÅ‡‡≥v³D1  UB²�
 tÐ t¹Ë«e/«ÅrzU1  UB²�
 q¹b³ð ‡‡

 ÈÅt?D?I?
 t?¹Ë«eA«ÅrzU6  UB²$� dÖ«p(x,y)Ë ÈËd?)  U?B?²?$?� n?¹dFð tÐ tłuð UÐ býUÐ ÂuKF� 

 qJý ÈÅtEŠö�µÅ‡‡ÅÅÅ∏∫rOM)Åv� ÁœUH²Ý« d¹“ jÐ«Ë— “« 

  r
2 = x2 + y2

θ = Arctg
y
x

 qJýµ‡‡∑

ρ

O
X

θ

M

 qJýµ‡‡∏
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x

y
r

O
x
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P (x,y )

(r,θ )



ÅÅÅÅÅÅ∏≤

 t) vð—u`—œ(r, θ) ÈÅtDI
 v³D6  UB²$� pÈÅt¹Ë«eA«ÅrzU6  UB²$� rO¼«u$Ð Ë býUÐ ÂuKF� 

 qJý® q³6 ÈÅt×H` qJý oÐUD� r¹—Ë¬ XÝœÅtÐ «— Ê¬µÅÅ‡‡ÅÅÅ∏∫rOM)Åv� ÁœUH²Ý« d¹“ ÈU¼Å‰u�d� “« ©

x = r cosθ

y = r sinθ

 ‰U¦
µ‡‡ÅÅ±∫  UB²$� tDI
 t¹Ë«eA«ÅrzU6  A(1, 3 ) UB²$� ÈÅt³ÝU×� XmÐuKD� XÝ« ÂuKF� 

 tDI
 v³D6.A

∫v?K� —UJ¼«— t?D?I
 t¹Ë«eA«ÅrzU6  UB²$� t)Ås¹« tÐ tłuð UÐ d¹“ qJý —œ P® v?MF¹ x,yÂuKF� ©

 Ê¬ v³D6  UB²$� rO¼«ušÅv� XÝ«(r,θ)Ær¹—Ë¬ XÝœÅtÐ «— 

 t¹Ë«eA«ÅrzU6 YK¦� —œ «— X
«ó
Uð tDÐ«—OPH
∆

rOm¹u
Åv� 

 tDÐ«—±tgθ =
PH
OH

=
y
x

⇒ θ = Arc tg
y
x

 rOm¹u
Åv� YK¦� s¹« —œ eO
 «— À—užU¦O� tDÐ«— ËOP2 = PH2 + OH2
 d¹œUI� Ë  x Ëy Ë r«— 

t)ÅÈ—uÞÅtÐ rO¼œÅv� —«d6 Ê¬ —œ

OP = r  ,  pH = y  ,  OH = x

 tDÐ«—≤ 
  
r2 = x2 + y2

œuýÅv� t−O²
 

 tDÐ«— Ëœ± Ë ≤r?O?
«u?ðÅv?� Ê¬ q?Š UÐ t) b¼œÅv� «— ‰uN−� Ëœ tAœUF� Ëœ ÁU~²Ýœ p¹ qOJAð 

 qJýµ‡‡π

y

r

O
x

θ

P (x,y )

(r,θ )K

H



ÅÅÅÅÅ∏≥

ÆrOM) q¹b³ð r¼ tÐ «—  UB²$�

  

r2 = x2 + y2

θ = Arc tg
y
x







∫qŠ ‘Ë— t?D?I?
  U?B?²$� ‚u� tK¾m� —œ   A(1, 3 ) v?MF¹ 
  
(y = 3 , x =1)d?Ö« b?ýUÐÅv� 

 ÈU¼d²�«—UÄr Ë θÆœuýÅv� qŠ tK¾m� r¹—Ë¬ XÝœÅtÐ  UB²$� q¹b³ð ÁU~²Ýœ “« «— 

  

r2 = x2 + y2

θ = Arc tg
y
x







v³D6  UB²$�

    

r2 = (1)2 + ( 3 )2

θ = Arc  tg
3

1









⇒
r2 = 4 ⇒ r = 2

θ = 60
o






⇒

r = 2

θ = 60
o





⇒ P(2,60
o )

∫vÝ—dÐ Ë Y×ÐÈbFÐÅËœ  UB²$� Ê«uðÅv�  UB²$� q¹b³ð ÁU~²Ýœ Ë ‚u� ‰u�d� ÈÅtKOÝËÅtÐ 

v³D6 ‘Ë— “« dðÅgOÐ ◊UI
 Êœd)ÅÁœUOÄ È«dÐ È—«œdÐÅtAI
 —œ Ë œd) q¹b³ð r¼ tÐ «— t¹Ë«eA«ÅrzU6 Ë v³D6

ÆrOM)Åv� ÁœUH²Ý« ©t¹Ë«“ Ë ‰uÞ®

œ«“¬ ÈÅtF/UD
 

 ‰U¦
µ‡?‡ÅÅ≤∫ ÈÅt?D?I
 ÈÅt¹Ë«eA«ÅrzU6  UB²$� P “« X?Ý«  —U³Ž   P(1, 3 ,5)

 ÈÅtDI
 È«Åt
«u²Ý«  UB²$�PÆbOM) »UmŠ «— 

∫v?K?3 —UJ¼«— ÈÅt?D?I?
 È«Åt?
«u?²?Ý«  U?B²$� n¹dFð o³Þ PÈË— «— U?C� —œ 

 t?×H`xoy t?D?I?
 Ê¬ d¹uBð t) rOM)Åv� d¹uBð z t?DI
 “« ‰UŠ œuýÅv� zd?Ð œuLŽ Ëœ 

 ÈU¼—u×�ox Ë oyÆœuýÅv� h$A� d¹“ ÈU¼d²�«—UÄ rOM)Åv� rÝ— 

Oz = ρ  , zH = x  ,  zK = y  ,  xoz
∧

= θ
∧

 t?×?H?` —œ «— È«Åt
«u²Ý«  UB²$� dÖ« XIOIŠ —œxoyt?Ð q?¹b³ð rOM) d¹uBð 

  UB²$� ŸUHð—« t�U{«ÅtÐ t×H` —œ v³D6Z ‰uÞ vMF¹ pz UB²$� ‰u�d� Ë býUÐÅv� 

 ŸU?H?ð—« d?Ö« r?¹—«œ t×H` —œ «— v³D6Z ‰u?Þ v?MF¹ pz U?B?²?$?� rOM) t�U{« Ê¬ tÐ 

Æb¹¬Åv� XÝœÅtÐ È«Åt
«u²Ý«x = ρsinθ

y = ρcosθ






ÅÅÅÅÅÅ∏¥

x2 + y2 = ρ2

θ = Arctg
y

x









→

x2 + y2 = ρ2

θ = Arctg
y

x
   Z = z











                                                

v³D6  UB²$�      È«Åt
«u²Ý«  UB²$�

∫qŠ ‘Ë— “« b
«Å —U³Ž tK¾m�  U{ËdH�   x =1 Ë 
  
y = 3 Ë   z = 5U¼ÅÊ¬ t) 

ÆrO¼œÅv� —«d6 d¹“ ‰u�d� —œ «—

È«Åt
«u²Ý«  UB²$�

∫vÝ—dÐ Ë Y×Ð´ v?³D6® È«Åt
«u²Ý«  UB²$� tÐ ◊uÐd� ÈU¼Å‰u�d� s²ýu
 UÐ 

Æœd) qŠ «—ÅÊ¬ tÐ ◊uÐd� qzUm� Ê«uðÅv� bM¹uÖÅv� eO
 v³D6ÅrO
 Ê¬ ÅtÐ t) ©ŸUHð—«

 qJýµ‡‡ÅÅÅ±∞

P

H

K

ρ

ÈÅt�U{«ÅtÐ

ŸUHð—«

    ⇒ p(2,60
o ,5)

    

x2 + y2 = ρ2

θ = Arc tg
y

x









⇒
(1)2 + ( 3 )2 = ρ2

θ = Arc tg 3






⇒

ρ2 = 4

θ = 60
o






⇒

ρ = 2

θ = 60





 ⇒  

ρ = 2

θ = 60

z = 5











ÅÅÅÅÅ∏µ

v�U�“¬œu	

± ÈÅt?D?I?
 fáÝ ¨bOM) rÝ— «— ÈbFÐÅËœ  UB²$� ÈU¼—u×� «b²Ð« ‡‡A  U?B²$� ¨  (2, 3)Ë 

 ÈÅtDI
B  UB²$� UÐ   (−3,4) ÈÅtDI
 Ë C  UB²$� ¨  (−5,−2)ÆbOM) h$A� t×H` —œ «— 

≤ ÈÅtDI
 v³D6  UB²$� ‡‡    M(5, 30
o ) qJý oÐUD� µ‡‡ÅÅ±±t¹Ë«eA«ÅrzU6  UB²$� ÆXÝ« ÂuKF� 

∫b¹—Ë¬ XÝœÅtÐ «— Ê¬

    M(5, 30
o )

≥ ÈÅtDI
 ÈÅt¹Ë«eA«ÅrzU6  UB²$� ‡‡  A(− 3 ,−3)b¹—Ë¬ XÝœÅtÐ «— Ê¬ v³D6  UB²$� ÆXÝ« 

 qJý®µ‡‡ÅÅ±≤Æ©

¥ ÈÅtDI
 v³D6  UB²$� ‡‡    M = (8,30
o) vð—U)œ  UB²$� ÆXÝ« ÂuKF� ®«— Ê¬ ©t¹Ë«eA«ÅrzU6

Æb¹—Ë¬ XÝœÅtÐ

Ê«“u
¬ÅgJ«œ v¼ËdÖ —U3

¡UCŽ« vÐU¹“—« Ë ‘“u�¬ XOAUF� q³6 ‰uB� bM
U� e¹eŽ ÊULKF� pL) Ë  —UE
 UÐ

Æœuý ÂU−
« ÁËdÖ jÝuð

 qJýµ‡‡ÅÅ±±

y

A

x

 qJýµ‡‡±≤

d²


30

r=
5

�



ÅÅÅÅÅÅ∏∂

rAý qB�

XŠUO
 ÈÅt³ÝU×
® Area©

∫È—U²�— ÈU¼Å·b¼∫œË—Åv� —UE²
« dOÖ«d� “« qB� s¹« ÊU¹UÄ “« fÄ 

±Æb¼œ `O{uð «— YK¦� XŠUm� ÈÅt³ÝU×� nK²$� ÈU¼Å‘Ë— ‡‡

≤¨q??O??D??²??m??� ¨l??Ðd??�® U?¼Åv?F?K?{—U?N?Ç X?ŠU?m?� ÈÅt?³?ÝU?×?� ÈU?¼Å‰u?�d?� ‡?‡

ÆbM) ÊUOÐ «— ©tI
“Ë– Ë È“uA ¨Ÿö{ô«ÅÈ“«u²�

≥Æb¼œ `O{uð «— h$A�dOž ÈU¼ÅvFK{—UNÇ XŠUm� sOOFð ÈU¼Å‘Ë— ‡‡

¥Æb¼œ Õdý åÊËd¼ò —u²Ýœ ‘Ë— tÐ «— U¼ÅvFK{ÅbMÇ XŠUm� sOOFð ‘Ë— ‡‡

µ —œ ‰U¦� p¹ d)– UÐ «— tFD6 Ë ŸUD6 ¨Ád¹«œ XŠUm� ÈÅt³ÝU×� ÈU¼Å‰u�d� ‡‡ÅÅ≥

ÆbM) ÊUOÐ qJý

∂Æb¼œ ̀ O{uð qJý rÝ— Ë ‰U¦� p¹ d)– UÐ «— vCOÐ XŠUm� ÈÅt³ÝU×� ‰u�d� ‡‡

∑Æb¼œÅÅÅÅÕdý «— ŸUHð—«År¼ ÈU¼ÅtI
“Ë– “« ÁœUH²Ý« UÐ —uB×� ̀ DÝ ÈÅt³ÝU×� ‘Ë— ‡‡

∏Æb¼œ Õdý «— å”uÖò ‘Ë— tÐ XŠUm� ÈÅt³ÝU×� ‡‡ÅÅ

πÆb¼œ Õdý «— ŸUHð—«År¼ ÈU¼ÅtI
“Ë– ‘Ë— tÐ XŠUm� ÈÅt³ÝU×� ‡‡Å

±∞Æb¼œ Õdý «— ÊumáLOÝ ‘Ë—ÅtÐ XŠUm� ÈÅt³ÝU×� ‡‡

±±ÆœdO~Ð «d� «— qB� s¹« —œ ÁbýÅqŠ ÈU¼Å‰U¦� ‡‡



ÅÅÅÅÅ∏∑

A

E

D

C

B

bOJ«œÅv
 U¹¬

∫Y?K?¦?
 XŠUO
 ÈÅt³ÝU×
Ë U?¼ÅX?O?J?AU?� ·ö²š« qŠ È«dÐ dAÐ “UO
 qOAœ tÐ 

U`uB$� v²�dÐ¬ Ë È“—ËUA) eOšÅq`UŠ ÈU¼ÅsO�“ “d� Ë bŠ sOOFðÎU¼Å»öOÝ “« bFÐ 

œ—u?� —U?O?m?Ð s?O?�“ XŠUm� Ë œUFÐ« ÈdOÖÅÁ“«b
« Ë vŠUm� rKŽ Ê¬ ÈÅt
ôœUŽ rOmIð Ë

ÆXÝ« ÁœuÐ Ê«bMLA
«œ tłuð

XŠUO


ÈdOÖÅÁ“«bJ«ÅÅ ÁU~²Ýœ

 qJý∂‡‡ÅÅÅÅ±

 qJý∂‡‡ÅÅÅÅ≤XŠUO
 ÈÅt³ÝU×
 XNł Â“ô ÈU¼ÅÈdOÖÅÁ“«bJ« ‡‡



ÅÅÅÅÅÅ∏∏

∂‡‡ÅÅ±vÝbM¼ ‰UJý« XŠUO
 ÈÅt³ÝU×
 ‡‡

∫YK¦
 XŠUO
 ÈÅt³ÝU×
 qJý —œ ∂‡‡ÅÅ≥ vFK{ÅtÝ ABCÈË—ÅtÐË— Ÿö{« t²�dÖ dE
 —œ «— 

 dOE
 v�ËdŠ UÐ t¹Ë«“ d¼a ¨b ¨c UÐ «— lK{ d¼ dÐ œ—«Ë ŸUHð—« Ë ha ¨ÅhbÅË hc∫rO¼œÅv� ÊUA
 

∫lK{ Ê¬ dÐ œ—«Ë ŸUHð—« nB
 —œ ÁbŽU6 »d{Åq`UŠ UÐ XÝ« dÐ«dÐ YK¦� XŠUm� ©nA«

S = 1

2
a.ha = 1

2
b.hb = 1

2
c.hc

Ëœ Ê¬ s?O?Ð ÈÅt?¹Ë«“ ”u?MOÝ —œ lK{ Ëœ »d{Åq`UŠ nB
 UÐ XÝ« dÐ«dÐ YK¦� XŠUm� ©»

∫lK{

  

S = 1

2
absin C = 1

2
acsin B = 1

2
bcsin A

 —u²Ýœ ©ÃHeronÊ¬ lK{ tÝ VmŠdÐ YK¦� XŠUm� ÈÅt³ÝU×� ∫

 dÖ«a ̈  b Ë c ∫vMF¹ YK¦� jO×� ̈ bMýUÐ YK¦� lK{ tÝ ÈU¼ÅÁ“«b
« a + b + c UÐ «— ≤Pg¹UL
 

 Ë bM¼œÅv�S∫—u²Ýœ “« «— YK¦� XŠUm� 

S = P(P − a)(P − b)(P − c)

 —u²Ýœ ÈÅtÐU¦� tÐ tDÐ«— s¹« Æb
—Ë¬Åv� XÝœÅtÐHeronÆœ—«œ Ê«Ë«d� œdÐ—U) v{«—« XŠUm� sOOFð —œ 

 qJý∂‡‡ÅÅÅÅ≥

bc

a CB

A

ha

H

c
b

a

A

CB

ha



ÅÅÅÅÅ∏π

bOJ«œÅv
 U¹¬

v
Uł“uÐÅÅU�uA«uÐ« XÝ« ÂuKF� Ê¬ lK{ tÝ t) v²AUŠ —œ XŠUm� ÈÅt³ÝU×� È«dÐ

¬ ‰u�d� ‚ ‡‡ ‡‡¼ Â—UNÇ Êd6—œ v
«d¹« ÊULKm� bMLA
«œÆXÝ« Áœd) ÊUOÐ d¹“ qJý tÐ «— Ê

  

S =
c + b

2







2

−
a
2







2











a
2







2

−
c − b

2







2











∫d3cð t) vð«dOOGð UÐ XIOIŠ —œ ‰u�d� s¹« t³ÝU×� ‰u�d� œuýÅv� ÂU−
« Ê¬ ÈË—

Æb¹¬Åv� XÝœÅtÐ ©v
U
u¹ bMLA
«œ® ÊËd¼ ‘Ë— tÐ XŠUm�

S = P(P − a)(P − b)(P − c)

 ‰U?¦
∂‡?‡ÅÅ±∫ d?Ð«d?Ð V?O?ðd?ðÅt?Ð Ê¬ Ÿö?{« t?) Y?K¦� qJý tÐ XÝ« vMO�“ ∑∞ ¨ µ∞ Ë ∂∞d?²� 

Æb¹—Ë¬ XÝœÅtÐ «—ÅÊ¬ XŠUm� býUÐÅv�

∫vK� —UJ¼«—«—ÅÊ¬ XŠUm� rO¼«u$Ð býUÐ ÂuKF� YK¦� lK{ tÝ t) qzUm� Ÿu
 s¹« qŠ È«dÐ 

ÆbýUÐÅv� ©ÊËd¼® U¹ v
Uł“uÐ ‰u�d� “« ÁœUH²Ý« Á«— s¹d²NÐ r¹—Ë¬ XÝœÅtÐ

 t)P XÝ« jO×� nB
 S = P(P − a)(P − b)(P − c)

  

P =
a + b + c

2

 qJý∂‡‡ÅÅÅÅ¥

B

C

ac

b

A

B

C

ac

b

A



ÅÅÅÅÅÅπ∞

∫qŠ ‘Ë— t)ÅÈ—uÞÅtÐ r¹—«œ «— YK¦� Ÿö{« d²�   a = 70 Ë d²�  b = 50 Ë d²�   c = 60

  

P =
a + b + c

2
=

70+ 50+60

2
=

180

2
= 90jO×� nB
 

  
S = P(P − a)(P − b)(P − c) = 90(90− 70)(90− 50)(90− 60) =

 lÐd�d²�               
  

90(20)(40)(30) =1469 / 69

∫vÝ—dÐ Ë Y×ÐÊ«uðÅv� ‚u� ‰u�d� “« Ê¬ Ÿö{« s²m
«œ UÐ YK¦� XŠUm� t³ÝU×� tÐ tłuð UÐ 

Ê¬Ë rOM) pOJHð nK²$� ÈU¼ÅYK¦� tÐ «— U¼ÅÊ¬ t)  —u` s¹« tÐ U¼ÅvFK{ÅbMÇ ÂULð È«dÐ œ«œ rOLFð «—Å

q) XŠUm� Uð rOM) lLł r¼ UÐ «— U¼ÅXŠUm� fáÝ Áœ—Ë¬ XÝœÅtÐ ‘Ë— sOL¼ tÐ «— YK¦� d¼ XŠUm�

Æb¹¬ XÝœÅtÐ

  
S = S1 + S2 + S

3

∫lÐd
 XŠUO
ÅÅqJý® XÝ« œuš —œ lK{ p¹ »d{Åq`UŠ dÐ«dÐ ∂‡‡ÅÅ∂Æ©

  S = a2

∫qOD²O
 XŠUO
 qJý® XÝ« ÷dŽ —œ ‰uÞ »d{Åq`UŠ dÐ«dÐ ∂‡‡ÅÅÅÅ∑Æ©

S = a.b

 qJý∂‡‡ÅÅÅÅµ

 qJý∂‡‡ÅÅÅÅ∂

S2

S1

S3

a

a



ÅÅÅÅÅπ±

∫Ÿö{ô«ÅÈ“«u²
 XŠUO
oÐUD�® Ê¬ dÐ œ—«Ë ŸUHð—« —œ lK{ d¼ »d{Åq`UŠ UÐ XÝ« dÐ«dÐ 

 qJý∂ÅÅ‡‡ÅÅ∏Ÿö{ô«ÅÈ“«u²� —œ Æ© ABCD t) BH lK{ dÐ œ—«Ë ŸUHð—« CD∫XÝ« 

S = CD × BH

S = CD × BC × sin α

∫È“u/ XŠUO
 ∫dD6 Ëœ »d{Åq`UŠ nB
 UÐ XÝ« dÐ«dÐ 

  

S = AC × BD
2

 ® qJý∂‡‡ÅÅπÆ©

∫tIJ“Ë– XŠUO
qJý oÐUD� ÆŸUHð—« nB
 —œ ÁbŽU6 Ëœ ŸuL−� »d{Åq`UŠ UÐ XÝ« dÐ«dÐ 

∂‡‡ÅÅÅÅ±∞ ÈÅtI
“Ë– —œ ABCD ÈU¼ÅÁbŽU6 AB Ë CD ŸUHð—« Ë AHtI
“Ë– XŠUm� ÆXÝ« h$A� 

 qJý∂‡‡ÅÅÅÅ∑

 qJý∂‡‡ÅÅÅÅ∏

 qJý∂‡‡ÅÅÅÅπ

a

bA

D

B

C

α
H

A

D

B

C

A

BD

C



ÅÅÅÅÅÅπ≤

∫UÐ XÝ« dÐ«dÐ

S = AB + CD
2

× AH

∫h�A
dOž ÈU¼ÅvFK{—UNÇ XŠUO
 ÈÅt³ÝU×
Ëœ tÐ «—ÅÊ¬ «b²Ð« XŠUm� ÈÅt³ÝU×� È«dÐ 

—u?²?Ýœ ”U?Ý«d?Ð «— Y?K?¦?� d?¼ X?ŠU?m?� Ær?¹d?OÖÅv� Á“«b
« «— YK¦� Ëœ Ê¬ Ÿö{« ¨Áœd) rOmIð YK¦�

 qJý oÐUD�® rOM)Åv� lLł r¼ UÐ Ë r¹—Ë¬Åv� XÝœÅtÐ åÊËd¼ò∂‡‡±±∫©

  
S = S1 + S2

∫h?�A
dOž ÈU¼ÅvFK{ÅbMÇ ÈÅt³ÝU×
 q?Jý oÐUD� «b²Ð« ∂‡‡ÅÅ±≤rOmIð YK¦� bMÇ tÐ «—ÅÊ¬ 

—u?²?Ýœ ”U?Ý«d?Ð «— Y?K?¦?� d?¼ X?ŠU?m� fáÝ ªrOM)Åv� ÈdOÖÅÁ“«b
« «— YK¦� d¼ Ÿö{« ‰uÞ ¨Áœd)

∫rOM)Åv� lLł r¼ UÐ Áœ—Ë¬ XÝœÅtÐ åÊËd¼ò

S = S1 + S2 + S
3

+ S4

 qJý∂‡‡ÅÅÅÅ±∞

 qJý∂‡‡ÅÅÅÅ±±

 qJý∂‡‡ÅÅÅÅ±≤

D

A B

C
H

A

D

C

B S2

S1

S2

S1

S3

S4



ÅÅÅÅÅπ≥

 ‰U¦
∂‡?‡ÅÅ≤∫ Ëœ Ë Ÿö?{« Á“«b?
« t?) qÐUI� vFK{ÅbMÇ qJý tÐ sO�“ XÝ« Ábý Áœ«œ Ê¬ dD6

ÆvFK{ÅbMÇ XŠUm� t³ÝU×� XmÐuKD�

∫vK� —UJ¼«—ÈU¼ÅXŠUm� tÐ ÁbýÅpOJHð YK¦� tÝ  —u Å̀tÐ «—ÅÊ¬ ‚u� vFK{ÅbMÇ XŠUm� t³ÝU×� È«dÐ 

  
S1¨ 

  
S2 Ë 

  
S

3
  ÊËd?¼ ‡?‡ v?
U?ł“u?Ð ‰u?�d?� o?³?Þ Ë r?¹d?O?ÖÅv?� d?E
 —œ S = P(P − a)(P − b)(P − c)

 r¹—Ë¬Åv� XÝœÅtÐ «— q) XŠUm� fáÝ Ë t³ÝU×� «— Â«b)d¼ XŠUm�
  
S = S1 + S2 + S

3

∫qŠ ‘Ë— ÈU¼ÅXŠUm� 
  
S1Ë 

  
S2 Ë 

  
S

3
Ær¹—Ë¬Åv� XÝœÅtÐ d¹“  —u`ÅtÐ ‰u�d� o³Þ «— 

       

  

P1 =
a1 + b1 + c1

2
=

40+ 32 +64

2
= 68

 d²�  
  
c1 = 64 d²�     

  
b1 = 32 d²�      

  
a1 = 40

  
S1 = 68(68 − 40)(68 − 32)(68 −64) = 68(28)(36)(4) = 523 / 62

  
S1 = 523 / 62

P2 =
a2 + b2 + c2

2
=

64 +26 +68

2
= 79

 d²� 
  
c2 = 68 d²�     

  
b2 = 26 d²�      

  
a2 = 64

  
S2 = 79(79 −64)(79 −26)(79 −68) = 79(15)(53)(11) = 831/18

 lÐd�ÅÅd²�
  
S2 = 831/18

lÐd� d²�

lÐd� d²�

lÐd� d²�

 qJý∂‡‡ÅÅÅÅ±≥

d²


d²


d²
  

d²


d²


d²


d²


S2

S1

S3

A

B

C

D

E

22

26

32

54

40

64

68





ÅÅÅÅÅπµ

 ‰U¦
∂‡‡ÅÅ≥∫b
dÐ«dÐ VOðdðÅtÐ Ê¬ dD6 Ëœ Á“«b
« t) h$A�dOž vFK{Å—UNÇ qJý tÐ XÝ« vMO�“ 

 UÐ±µ¥ Ë d²� ±≤∑ dD6 Ëœ sOÐ t¹Ë«“ Ë d²�     23
o ,4 ′7Æb¹—Ë¬ XÝœÅtÐ «— vFK{—UNÇ XŠUm� býUÐÅv�

∫vK� —UJ¼«—UÐ XÝ« dÐ«dÐ t) Ábý XÐUŁ U¼ÅÊ¬ sOÐ t¹Ë«“ Ë dD6 Ëœ s²ý«œ UÐ vFK{—UNÇ XŠUm� 

 U?¼ÅÊ¬ sOÐ t¹Ë«“ ”uMOÝ —bÐd{ d~¹œ dD6 nB
 —œ dD6 p¹ »d{Åq`UŠ

  

S =
BD
2

× ACsin α“« 

ÆrOM)Åv� ÁœUH²Ý« XŠUm� t³ÝU×� È«dÐ ‰u�d� s¹«

∫qŠ ‘Ë—d?²?� t?K?¾?m� ÷d� o³Þ   AC =127d?²�  Ë   BD =154 Ë     α = 23
o ,4 ′7b?ýUÐÅv� 

rO¼œÅv� —«d6 ‰u�d� —œ «— ‚u� ÂuKF� d¹œUI�

lÐd�ÅÅÅd²�
 

    
S = BD

2
× ACsinα = 154

2
×127sin(23

o,4 ′7 ) = 3943 / 66

 lÐd�d²�  S = 3943 / 66

∫vÝ—dÐ Ë Y×Ðj?I� Ë býU³
 d¹cÄÅÊUJ�« Ÿö{« ÈdOÖÅÁ“«b
« t) vð—u`—œ vFK{—UNÇ p¹ —œ 

ÆœuýÅv� t³ÝU×� ‰u�d� s¹« “« XŠUm� rOM) ÈdOÖÅÁ“«b
« «— dD6 Ëœ sOÐ t¹Ë«“ Ë dD6 Ëœ rO
«u²Ð

 ∫Ád¹«œ XŠUO
∫vÄ œbŽ —œ ŸUFý —Ëc−� UÐ XÝ« dÐ«dÐ

  S = πR2

 qJý∂ÅÅ‡‡ÅÅÅÅ±µ

B

CA

D

α

 qJý∂Å‡‡ÅÅÅÅ±∂

R



ÅÅÅÅÅÅπ∂

∫ŸUD1 XŠUO
 d?Ö« ÆbýUÐ ŸUFý Ëœ sOÐ —uB×� t) XÝ« Ád¹«œ d¼ “« v²Lm6 ŸUD6 rO
«œÅv� R

 Ë Ád¹«œ ŸUFýθ býUÐ tł—œ VmŠdÐ dE
ÅÅÅœ—u� ŸUD6 Èe)d� ÈÅt¹Ë«“ ® qJý∂‡‡Å±∑Æ©

∫UÐ XÝ« dÐ«dÐ ŸUD6 XŠUm�

θVmŠdÐ     ¨tł—œ 

    
S = πR2 × θo

360

θ        ¨ÅÊU¹œ«— VmŠdÐ 

  

S = R2θ
2

∫tFD1 XŠUO
 qJý® XÝ« Ád¹«œ dðË p¹ Ë jO×� sOÐ —uB×� ÈÅÁd¹«œ “« v²Lm6 ̈ tFD6 ∂ÅÅ‡‡ÅÅ±∏©

 ∫‰u�d� “« Ê¬ XŠUm� Ë

  

S = R2( πα
360

− 1

2
sin α)Ð Æb¹¬Åv� XÝœÅt

∫ U³Ł«d¹“ qJý tÐ tłuð UÐ 

                                                             ÅÅÅÅÅÅÅÅÅÅÅÅÅŸUD6 XŠUm�  YK¦� XŠUm�    

  

SABC = AOCB − AOC = πR2α
360

− 1

2
R2 sin α = R2( πα

360
− 1

2
sin α)

tFD6

O

θ

A

h

α

O

B

C

R

 qJý∂Å‡‡ÅÅÅÅ±∑

 qJý∂ÅÅÅ‡‡ÅÅÅÅ±∏



ÅÅÅÅÅπ∑

 ‰U¦
∂‡?‡ÅÅ¥∫ ŸUFý tÐ È«ÅÁd¹«œ —œ ±≤ Èe?)d?� t?¹Ë«“ d¹“ qJý oÐUD� tFD6 d²�     α = 37
o ,2 ′5

ÆtFD6 XŠUm� t³ÝU×� XÝ« »uKD� œ—«œ —«d6

∫vK� —UJ¼«— tFD6 XŠUm� ABCÆXýu
 d¹“  —u`ÅtÐ qJý tÐ tłuð UÐ Ê«uðÅv� «— 

 tDÐ«—±SABC = SAOCB − SAOC

tFD6 XŠUm�    ŸUD6 XŠUm�    YK¦� XŠUm�                                                                                        

UÐ XÝ« dÐ«dÐ ŸUD6 XŠUm� rO
«œÅv� v�dÞ “«

 tDÐ«— ≤   

    
SAOCB =

πR2αo

360

nB
 UÐ XÝ« dÐ«dÐ YK¦� p¹ XŠUm�®

©ÊUAMOÐ t¹Ë«“ ”uMOÝ —bÐd{ lK{ Ëœ »d{ q`UŠ

 tDÐ«—≥ 

  

SAOC =
R × R

2
sin α =

R2

2
sin α

 ÈU¼ÅtDÐ«—≤ Ë ≥ tDÐ«— —œ «— ±ÆrO¼œÅv� —«d6 

  

SABC =
πR2α
360

−
R2

2
sin α =

R2

2
(

πα
180

− sin α)

α býUÐÅv� tł—œ VmŠdÐ 

  

SABC =
R2

2
(

πα
180

− sin α)
tFD6

∫qŠ ‘Ë—ÆrO¼œÅv� —«d6 b�¬ XÝœÅtÐ ôUÐ —œ t) tFD6 XŠUm� ‰u�d� —œ «— ÂuKF� d¹œUI� 

 lÐd�d²�

    

SABC =
(12)2

2

π(37
o ,2 ′5 )

180
− sin(37

o ,2 ′5 )








 = 3 / 27

∫v?Ý—dÐ Ë Y×ÐÊ«u?ðÅv?� ôU?Ð ‰u?�d?� “« býUÐ tFD6  —u`ÅtÐ Á“UÝ U¹ sO�“ qJý t)Åvð—u`—œ 

Æœd) t³ÝU×� «— Ê¬ XŠUm�

 qJý∂Å‡‡ÅÅÅÅ±π

A

α

O

B

C

12

37
0,2 ′5

YK¦� XŠUm�

ÅÅÅŸUD6 XŠUm�

d²




ÅÅÅÅÅÅπ∏

∫vCOÐ XŠUO
 «— vCOÐ dðÅ¯—eÐ dD6 nB
 dÖ« a «—ÅÊ¬ dðÅpÇu) dD6 nB
 Ë bqJý® rO�UMÐ 

∂‡‡ÅÅ≤∞∫UÐ XÝ« dÐ«dÐ vCOÐ XŠUm� ¨©

S = πab

∂‡‡ÅÅ≤©”uÖ ‘Ë—® ”uz—  UB²�
 “« ÁœUH²Ý« UÐ XŠUO
 ÈÅt³ÝU×
 ‡‡

—œ ¨b?¼œÅv?� q?O?JAð rOI²m� ◊uDš «—ÅÊ¬ Ÿö{« t) È«Åt²mÐ vFK{ÅÅbMÇ ”uz—  UB²$� dÖ«

ÆXÝ« å”uÖ ‘Ë—ò “« ÁœUH²Ý« vFK{ÅbMÇ Ê¬ XŠUm� t³ÝU×� Á«— s¹dðÅoO6œ ¨býUÐ XÝœ

‘Ë— s¹« “« Ê«uðÅv� bM²m¼ È«Åt²mÐ ÈU¼ÅvM×M�  —u`ÅtÐ t) ‰UJý« XŠUm� ÈÅt³ÝU×� È«dÐ

 qJý tÐ «— U¼ÅÊ¬ t)ÅÊ¬ dÐ vM³� Æœd) ÁœUH²Ý«nÈdOÖÅÁ“«b
« ◊UI
 ÈÅtK`U� tÇd¼ Ær¹dO~Ð dE
Å—œ vFK{ 

ÆœuýÅv� dðÅgOÐ XŠUm� ÈÅt³ÝU×� X6œ rOM) dðÅpÇu) «—

v?F?K?{Å—U?N?Ç X?ŠU?O
 ÈÅt³ÝU×
 ABCD∫B?²?$� dÖ« ¨V?O?ðd?ðÅÅÅt?Ð «— v?F?K?{—UNÇ ”uz—  U

D
xD

yD
 ̈C

xC

yC
 ̈B

xB

yB
Ë ̈A

xA

yA
«uðÅv� «— XŠUm� r¹dO~Ð dE
ÅÅÅ—œ ∫œ—Ë¬ XÝœÅtÐ ‰u�d� s¹« “« Ê

           

  

S = 1

2
(xAyB + xByC + xCyD + xDyA ) − (xByA + xCyB + xDyC + xAyD )[ ]
∫œuL
 ÁœUH²Ý« ‚u� ‰u�d� s²ýu
 Ë kHŠ XAuNÝ È«dÐ Ê«uðÅv� eO
 d¹“ ÈÅtDÐ«— “«

∫ÁdB³ðsO�dÞ      sODÝË    

»d?{Åq?`U?Š Ÿu?L?−?� ÈU?N?M?� Ábý œU¹ ÈÅtDÐ«— sO�dÞ »d{Åq`UŠ ŸuL−� ¨VOðdð s¹« tÐ

 vFK{—UNÇ XŠUm� dÐ«dÐ Ëœ UÐ sODÝËABCDÆœuÐ b¼«uš dÐ«dÐ 

∫ÁdB³ð p¹ XŠUm� ÈÅt³ÝU×� È«dÐ Ê«uðÅv� «— ‰u�d� s¹« n∫œ«œ rOLFð vFK{ 

ÅÅÅ   

    
S = 1

2
(xA1

yA2
+ xA2

yA3
+  K) − (xA2

yA1
+ xA3

yA2
+  K)[ ]ÅÅ  

 qJý∂ÅÅ‡‡ÅÅÅÅ≤∞

x A

y A

x B

y B

x C

y C

x D

y D

x A

y A

xAn

yAn

xA1

yA1

xA1

yA1

xA2

yA2

xA3

yA3

a

b

B

A ′A

′B



ÅÅÅÅÅππ

∫tłuðÆXÝ« v�«eA« ”uz— vA«uð X¹UŽ— ‚u� ÈÅtDÐ«— —œ 

 UB²$� ‰u�d�  U³Ł«

 qJý oÐUD�∂‡‡ÅÅ≤± XŠUm� Ê«uðÅv� ABCD∫Xýu
  —u` Ås¹« tÐ «— 

SABCD = SAB ′B ′A + S ′B BC ′C − S ′A AD ′D − A ′D DC ′C

¨ŸUHð—« nB
 —œ ÁbŽU6 Ëœ ŸuL−� UÐ XÝ« dÐ«dÐ tI
“Ë– d¼ XŠUm� t)Ås¹« tÐ tłuð UÐ

s¹«dÐUMÐ

  

SAB ′B ′A = 1

2
(xA + xB)(yA − yB)

  

S ′B BC ′C = 1

2
(xB + xC )(yB − yC )

  

S ′A AD ′D = 1

2
(xA + xD )(yA − yD )

  

S ′D DC ′C = 1

2
(xD + xC )(yD − yC )

∫b¹¬Åv�—œ  —u`Ås¹« tÐ ‰u�d� ¨Êœd)ÅÁœUÝ Ë »d{ “« fÄ

  

SABCD = 1

2
(xAyB + xByC + xCyD + xDyA ) − (xByA + xCyB + xDyC + xAyD )[ ]

 ‰U?¦
∂ÅÅ‡‡ÅÅµ ∫ÅÅ v?F?K?{—U?N?Ç XŠUm� t³ÝU×� XÝ«Å»uKD�ABCDÊ¬ ”u?z—  U?B²$� t) 

∫“« b
«Å —U³Ž Ë ÂuKF�

  d²�

  

A
370/ 35

760/ 47
 d²�    

  

B
89 /18

570/ 65
 d²�    

  

C
159 / 42

190/ 25
 d²�    

  

D
904 / 41

90/18

 qJý∂ÅÅ‡‡ÅÅÅÅ≤±

A

D

C

B

′C

′B

′D

′A



ÅÅÅÅÅÅ±∞∞

∫vK� —UJ¼«—“« XÝ«  —U³Ž Ê¬ ”uz—  UB²$� s²ý«œ UÐ vFK{ÅbMÇ XŠUm� ‰u�d� 

  

S =
1

2
(xAyB + xByC + xCyD + xDyA ) − (xByA + xCyB + xDyC + xAyD )[ ]

∫d3cðd¹“ dm)  —u`ÅtÐ «— vFK{ÅbMÇ ”uz—  UB²$� Ê«uðÅv� XŠUm� ‰u�d� s²ýu
 È«dÐ 

Xýu
 r¼ —UM) —œ

∫d�cð ‰Ë« tDI
 AÁbý —«dJð UN²
« —œ 

x A

y A

x B

y B

x C

y C

x D

y D

x A

y A

ÆbýUÐÅv� sODÝË X�öŽ          Ë sO�dÞ X�öŽ           Ë




»d{Åq`UŠ ŸuL−�sODÝË − »d{Åq`UŠ ŸuL−�sO�dÞ


  

=
1

2
 XŠUm� —«bI�

∫qŠ ‘Ë—ÆrO¼œÅv� —«d6 ‰u�d� —œ «— vFK{ÅÅ—UNÇ ”uz—  UB²$� 

S =
1

2
(370/ 35)(570/ 65) + (89 /18)(190/ 25) + (159 / 42)(90/18) + (904 / 41)(760/ 47)[ ]{

− (89 /18)(760/ 47) + (159 / 42)(570/ 65) + (904 / 41)(190/ 25) + (370/ 35)(90/18)[ ]}
 lÐd� d²�  S = 283102 / 99

∫v?Ý—dÐ Ë Y×Ðs?¹« “« Ê«u?ðÅv?� b?ýUÐ ÂuKF� Êu~OKÄ ”uz—  UB²$� t) U¼ÅXý«œdÐ ÂULð —œ 

ÈU¼ÅÁU~²Ýœ Ë U¼—«e�«ÅÂd
 —œ XŠUm� t³ÝU×� —œ ‰u�d� s¹« Æœd) ÁœUH²Ý« XŠUm� t³ÝU×� È«dÐ ‰u�d�

ÆœuýÅv� ÁœUH²Ý« eO
 ÈdOÖÅÁ“«b
«

 qJý∂ÅÅ‡‡ÅÅÅÅ≤≤

A

B

C

D

X

Y

o
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∂‡‡ÅÅ≥ÊuOáLOÝ ‰u
d� ‡‡® Simpson©

 U?L?O?m?I?ð Áb?Ž p¹ vM³� jš ÈË— dÐ «b²Ð« b¹UÐ Xý«œdÐ l6u� —œ ‰u�d� s¹« “« ÁœUH²Ý« È«dÐ

ö¦�® ÃË“ ÈËUm�Î Á“«b
« tÐ d œuLŽ ÈU¼Å‰uÞ fáÝ ©qJý oÐUD�® Áœd) «bł ©
  
y1 Ë 

  
y2 Ë 

  
y

3
 Ë yn«— 

® œd) ÈdOÖÅÁ“«b
«nÆ©œd� 

 qJý∂ÅÅ‡‡ÅÅÅÅ≤≥

yn −1
yny

3
y

2
y

1

d0 d d

∫XÝ« d¹“ vK) qJý tÐ ‰u�d� s¹«

S =
d
3

(y1 +2∑ yi + 4∑ yp + yn )

 Ê¬ —œ t)∑ yi “« dOž œd� ÈU¼œuLŽ ‰uÞ ŸuL−� 
  
y1

 Ë yn Ë ∑ ypÃË“ ÈU¼œuLŽ ‰uÞ ŸuL−� 

 ËdÆbýUÐÅv� U¼œuLŽ tK`U� 

∂‡‡ÅÅ¥ŸUHð—« r¼ ÈU¼ÅtIJ“Ë– ‰u
d� ‡‡

qJý UM³� jš ÈË— ÈËUm� ÈU¼ÅXLm6 Êœd)Å«bł UÐ ÊuÇ býU³
 dE
 œ—u� ÈœU¹“ X6œ v²6Ë

U?³?¹d?I?ð ÈU?¼ÅqJý ÁbŽ p¹ tÐ q¹b³ðÎ—u?²?Ýœ ÈË— “« «— p?¹d?¼ X?ŠUm� Ê«uðÅv� t) œuýÅv� tI
“Ë– 

ÆœuýÅv� t²�dÖ t−O²
 d¹“ ‰u�d� Æœd) »UmŠ tI
“Ë– XŠUm� tÐ ◊uÐd�

    
S = d(

y1 + yn

2
+ y2 + y

3
+L+ yn−1)

y
1

d0 d d

yn −1 yn

 qJý∂ÅÅ‡‡ÅÅÅÅ≤¥



ÅÅÅÅÅÅ±∞≤

5m4m6m10m8m7m

5m5m5m5m5m

10 14 18

10 10 10 10 hnh1

 ‰U¦
∂‡‡ÅÅ∂∫ÈU?¼ÅÁ“«b
« ©qJý oÐUD�® t
UšœË— —UM) —œ vMO�“ tFD6 XŠUm� sOOFð —uEM� tÐ 

øXÝ« lÐd�d²� bMÇ XŠUm� s¹« bOMOÐÅv� «— Áb�¬ÅXÝœÅtÐ

∫vK� —UJ¼«—«d¼Uþ «— tK¾m� s¹« ÎqŠ ÊumáLOÝ Ë ŸUHð—«År¼ ÈU¼ÅtI
“Ë– ‘Ë— Ëœ “« Ê«uðÅv� 

Ë œdÐ —U)ÅtÐ Ê«uðÅvL
 «— ÊumáLOÝ tDÐ«— Ábý t²�dÖ dE
 —œ œd� ÈËUm�  ULOmIð œ«bFð ÊuÇ vAË œd)

ÆrOM)Åv� ÁœUH²Ý« ŸUHð—«År¼ ÈU¼ÅtI
“Ë– tDÐ«— “«

qŠ ‘Ë—S = d(
y1 + yn

2
+ y2 + y

3
+ yn−1) ⇒

S =10(
0+0

2
+10+14 +18) ⇒

  S = 420m2

∫vÝ—dÐ Ë Y×Ð ŸUHð—« bOM)Åv� Áb¼UA� ôUÐ qJý —œ t)—uÞÅÊUL¼ 
  
h1 Ë hn‰Ë« ÈU¼ÅtFD6 —œ

ÆœdOÖÅv� —«d6 dH` U¼ÅÊ¬ ÈUł tÐ ôUÐ tDÐ«— —œ s¹«dÐUMÐ XÝ« dH` sO�“ dš¬ Ë

 ‰U¦
∂‡‡ÅÅ∑∫øXÝ« lÐd�d²� bMÇ d¹“ sO�“ tFD6 XŠUm� 

 qJý∂ÅÅ‡‡ÅÅÅÅ≤µ

tJUšœË—

 qJý∂ÅÅ‡‡ÅÅÅÅ≤∂

ÊUÐUOš
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∫v?K� —UJ¼«—È«d?Ð Êu?m?áLOÝ tDÐ«— “« Ê«uðÅv� býUÐÅv� ÃË“ ÈËUm�  ULOmIð œ«bFð ÊuÇ 

 Á—ULý “« «— U¼œuLŽ éÇ XLÝ “« fÄ Æœd) ÁœUH²Ý« sO�“ tFD6 s¹« XŠUm� t³ÝU×�±È—«cÖÅÁ—ULý 

Ær¹dÐÅv� —U)ÅtÐ «— ÊumáLOÝ tDÐ«— Ë rOM)Åv�

qŠ ‘Ë—

∫v?Ý—dÐ Ë Y×Ð�« Æœd?) q?Š ŸU?H?ð—«År¼ ÈU¼ÅtI
“Ë– tDÐ«— “« Ê«uðÅv� «— tK¾m� s¹« Ò‘Ë— U

ÆbýUÐÅv� ÈdðÅVÝUM� ‘Ë— XŠUm� t³ÝU×� È«dÐ Ë œ—«œ ÈdðÅgOÐ X6œ ÊumáLOÝ

qzUO


 ÈÅt?/QO
±∫ v?F?K?{ÅÅÅZ?M?Ä XŠUm� ÈdOÖÅÁ“«b
« È«dÐ ABCDE q?J?ý  —u`ÅtÐ «—ÅÊ¬ ∂‡?‡ÅÅ≤∑

∫sO�“ XŠUm� ÈÅt³ÝU×� XÝ« »uKD� Ær¹«ÅÁœd) ÈdOÖÅÁ“«b
« «— d¹“ ÈU¼Å‰uÞ ¨Áœd) rOmIð

  A ′E = 37 / 40   ′E C = 48 /15

  ED = 27 /03Ë 
  E ′E = 29 /18Å,Å

  B ′B = 21/12 ÅÅ,Å
  ′B C = 28 /02 Å,Å

  A ′B = 56 / 46Å

©ÆXÝ« d²� VmŠÅdÐ U¼ÅÈdOÖÅÁ“«b
«®  

E

′B

′E

B

CA

D

 qJý∂ÅÅ‡‡ÅÅÅÅ≤∑

S =
d

3
(y1 +2∑ yi + 4∑ yp + yn )

∑ yi =10+ 4 =14

∑ yp = 8 +6 =14














⇒

S =
5

3
(7 +2× (14) + 4(14) + 5)

  =  
5

3
(7 +28 + 56 + 5)

  =160m2














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 ÈÅt/QO
≤∫ qJý oÐUD�® vMO�“ tFD6 ̈ XŠUm� ÈÅt³ÝU×� È«dÐ ∂Å‡‡ÅÅ≤∏Ê¬ dD6 Ëœ Ë Ÿö{« ©

∫b¹—Ë¬ XÝœÅtÐ «— sO�“ XŠUm� Æb
«ÅÁbý ÈdOÖÅÁ“«b
«

  AB = 35 /16 , 
  BC = 39 / 80 , 

  CD = 31/05 , 
  DE = 33 / 95 , 

  AE = 46 /07

  AD = 48 /13 Ë 
  AC = 45 / 20

 ÈÅt/QO
≥∫ YK¦� qJý tÐ vMO�“ÅtFD6 XŠUm� sOOFð —uEM�ÅtÐ MNLqJý® ∂‡‡Å≤π ÈU¹«Ë“ ©M

 ËN ‰uÞ Ë MN∫b¹—Ë¬ XÝœÅtÐ «— sO�“ÅtFD6 XŠUm� ÆXÝ« Áb�¬ XÝœÅtÐ d¹“ d¹œUI� Ë Ábý ÈdOÖÅÁ“«b
« 

    ∠M = 34
o Ë     ∠N = 38

o d²� Ë 
  MN = 52 /09

 ÈÅt/QO
¥∫ vFK{Å—UNÇ qJý tÐ XÝ« vMO�“ ABCD qJý® ∂‡‡ÅÅ≥∞Ê¬ XŠUm� rO¼«ušÅv� ©

vFK{Å—UNÇ Ÿö{« rOI²m� —uÞÅtÐ rO²m
«u²
 Ÿö{« vCFÐ sOÐ l
«u� œułË V³Ý tÐ U�« ̈ rOM) sOOFð «—

 dD6 Ëœ Ê¬ ÈUłÅtÐ Ë rOM) ÈdOÖÅÁ“«b
« «—AC Ë BDÆr¹«ÅÁœd) ÈdOÖÅÁ“«b
« «— dD6 Ëœ sOÐ ÈÅt¹Ë«“ Ë 

∫b¹—Ë¬ XÝœÅtÐ «— sO�“ XŠUm� ¨VOðdð s¹« UÐ

 d²�
  AC = 62 /15

 d²�
  BD = 78 /06

    α
∧

= 54
o

EB

C

A

D

 qJý∂ÅÅÅ‡‡ÅÅÅÅ≤∏

M
38

0
34

0

L

N
 qJý∂ÅÅÅ‡‡ÅÅÅÅ≤π
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 ÈÅt/QO
µ∫ sO�“ tFD6 XŠUm� ABCDEF‘Ë— tÐ XÝ« ÂuKF� Ê¬ ”uz—  UB²$� t) «— 

ÆbOM) t³ÝU×� ”uÖ

  

F
153

104
  ¨

  

E
301

122
 ¨

  

D
287

170
 ¨

  

C
125

210
 ¨

  

B
98

150
 ¨ 

  

A
100

100

 ÈÅt?/Q?O
∂∫ ŸU?F?ý t?Ð È«ÅÁd¹«œ ≤∂[µ¥ q?J?ý® X?Ý« d²�∂‡?‡≥± d?ðË Æ©ABÈÅt?¹Ë«“ q?ÐUI� 

    110
o , 3 ′4 ÆbOM) t³ÝU×� «— Áœ“ —uýU¼ `DÝ ÆXÝ«

α

D

A

C B
 qJý∂ÅÅ‡‡ÅÅÅÅ≥∞

 qJý∂ÅÅ‡‡ÅÅÅÅ≥±

A

O
26/54

B

2
6
/5

4

O

A B

110
0 ,3 ′

4 110
0 ,3 ′

4

d²


 ÈÅt/QO
∑∫ qJý —œ «— —«œÅt¹UÝ ÈU¼ÅtOŠU
 XŠUm� ∂‡‡Å≥≤ÆbOÐUOÐ 

d²
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 ÈÅt/QO
∏∫ qJý —œ «— —«œÅt¹UÝ ÈÅtOŠU
 XŠUm� ∂‡‡Å≥≥ÆbOÐUOÐ 

 qJý∂‡‡ÅÅÅÅ≥≤

60
0

r = 6

r = 5

3

10

10

 qJý∂‡‡ÅÅÅÅ≥≥

 ÈÅt/QO
π∫ VOðdð tÐ Ê¬ ÈU¼dD6 t) vCOÐ qJý tÐ tâžUÐ p¹ XŠUm� ±≤ Ë ∏býUÐÅv� d²� 

Æb¹—Ë¬ XÝœ tÐ «—

60
0

r =
4

r = 6
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bOJ«œÅv
 U¹¬

∫t
UJÅvÖbJ“ÊU
«œÅv{U¹— s¹d²Ö—eÐ “« v
Uł“uÐ qOŽULÝ« sÐÅvO×¹ sÐbL×�U�uA«uÐ«Å

−M� ËÒ ‰U?Ý —œ t?) XÝ« v�öÝ« ÈÅÁ—Ëœ ÊUL≥≤∏r?¹b?6 ÂU
® ÊUł“uÐ dNý —œ ‚ ‡‡ ‡¼ 

—œ d?L?Ž dš¬ Uð Ë œd)  dłUN� ‚«dŽ tÐ v~AUÝ XmOÐ sÝ —œ Ë X�U¹ bAuð ©ÅÅÂUłÅÅXÐdð

b
«ÅÁœd) b`— r¼ UÐ vK³6 œ«œ—«d6 UÐ «— v�um) Ë œuÐ d`UF� v
ËdOÐ UÐ Ë Xm¹“Åv� œ«bGÐ

Ê¬ “« XÝ« È—ULýÅvÐ  UHOAQð È«—«œ býUÐÅv� tÝbM¼ rKŽ dO¼UA� “« vJ¹ t) v
Uł“uÐ

Ë t×Dm�  U¦K¦� rKŽ ÈÅÁ—UÐ—œ® v
Uł“uÐ vDm−� »U²) Ë vÝbM¼ ‰ULŽ« »U²) tKLł

t³ÝU×� È«dÐ U�uA«uÐ« »«uł Ë v
Uł“uÐ »UmŠ »U²) ©Ábý ÕdD� ÈU¼Å‰u�d� Ë ÈËd)

Æd~¹œ œbF²� ÈU¼ÅtAQm� Ë vÐu³Š tÐ YK¦� XŠUm�

lÐUM


±Ëœ bKł ÂöÝ« Ê«dJH²� »U²) ‡‡ÅÒ ’ r−MÄ qB� Â«—¬ tLłdð Â±¥∂

≤ b?K?ł Èb?A«u� vHDB� t²ýu
 vÐdŽ ÂuKŽ a¹—Uð ‡‡Å≥ ’ µ≥‡‡Åµ∞‰UÝ vÐdŽ 

±π∑πoA�œ —UA²
« q×�

≥t�U
Åv
Uł“uÐ »U²) ‡‡


